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Problem quickname: 4627
L) Quick:
Double the number.
a) 42.28 - 2 = 84.56 b) 63.93 - 2 = 127.86 c) 29.82 -2 = 59.64
d) 17.26 - 2 = 34.52 e) 36.54 -2 = 73.08 f) 21.12-2 =42.24
g) 43.78 - 2 = 87.56 h) 33.27 - 2 = 66.54 i) 63.36 - 2 = 126.72
j) 74.64 - 2 = 149.28
27) ?GUQi;k:
Double the number.
a) 30 -2 =60 b) 65 -2 =130 c)94-2 =188 d) 33 -2 =66
e) b0 -2 =100 f)62-2=124 g) 91 -2 =182
h) 10-2 =20 i) 84 -2 =168 j)5-2=10
37) ?Gu;?k:
Double the number.
a) 10-2 =20 b)4-2=8 c)3-2= d) 18-2 =36
e)7-2=14 f) 13-2 =26 g)6-2=12 h)2.-2=414
i)17-2=34 j) 15-2 =230
47) Quick:
Double the number.
a) 57.43 -2 = 114.86 b) 82.73 - 2 = 165.46 c) 80.4 -2 =160.8
d) 54.62 -2 =109.24 e) 44.46 - 2 = 88.92 f) 62.87 -2 = 125.74
g) 37.37-2="74.74 h) 18.88 -2 = 37.76 i) 36.63 - 2 = 73.26
j) 99.31 -2 = 198.62
Good Luck!
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